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Algebra 1

Section 1.4 Solving linear equations

3x — 5 = 7 is an example of an equation as it contains an = sign.
Solving an equation involves finding the value of the variable that makes the equation true.

The following two examples will illustrate the steps involved in solving a linear equation.




Example 1

Solve the equation 5x — 3 = 2x + 9.

Example 2

Solve the equation 52x — 4) =3(2x — 1) — 1




Answers:

Solve each of the following equations:

1. 2x=8 2. 3x=15

Pg 3
4, x—3=5 5. 2x—3=10
8-3=5 2(¢s)-3-10
13-3:00

A ) 7. x =
nswers: ;0 _

Solve each of the following equations:
7. 5x+2=12 8. 3x—/\'6=8
- +0
5(2)42= 12 o PR by
(042=12 ._'3 Y:G -X

10. 7x tH=25 11. 6x—2 =40+ 10 12, 7x—9=34+11

aear [ XA 10 ) ax-An [PX

T ye3 -1 —,u/ 2 4| ux=20 [19
-2 .-.q k:S 76

Hlw Pg 3 Qu, 1619




Answers:13. x = 7

Solve each of the following equations:

13. 3x+1=5x—13 14. 5x—2=40—x 15. 3x+7=32—2x

Answers: 16. x = 2 17. x=5

Solve each of the following equations:

16. 3(2x+ 1) =2x+ 11 17. 2(2x+5)=5x+5




Answers: 18. x =1 19. x =10

Solve each of the following equations:

18. 4(2x —3)=2(3x —5) 19. 32x—6)=2(2x+ 1)

Answers: 20. x = 10 21. x=5

Solve each of the following equations:

20. 3(5x —2) = 4(3x + 6) 21. 6(1+2x)=5Bx—1)—4




Answers: 22, X = 3 23. x =3

Solve each of the following equations:

22, 2x+2)—3x—3)=x+7 23. 3(4—-3x)=53B—-2)

Answers: 24. x=9

Solve each of the following equations:

24, 4(x+3)—3(2x—5)=x 25, 3x—1)=18—=-5(x+1)




Answers:

26. The figures below show a triangle and a rectangle.

X+ 2

2x

30 — 2x
() What value of x gives a triangle with a perimeter of 63 units?
(i) Find and simplify an expression for the perimeter of the rectangle.
)
)

(iii) For what value of x are the perimeters of the triangle and rectangle equal?
(iv) What value of x makes the rectangle into a square?

Answers: X = 35°% 101°, 64°, 15°

27. Form an equation and solve it to find the value of
x in the given triangle.

Hence write down the measure of each angle. An_g|1e8sou°m




